
E   Assembly and Care Instruction
Wooden Pet House  
or Litter Box Enclosure 

A4-Hoch_DOC_PAC_INST_01-4029-490×510×510mm_#SALL_#AQU_#V1.indd   1A4-Hoch_DOC_PAC_INST_01-4029-490×510×510mm_#SALL_#AQU_#V1.indd   1 25.07.24   12:1725.07.24   12:17



180624 | 73026TRIXIE Pet Products, Inc. · P.O. Box 101196 · Ft. Worth, TX 76185 · www.trixiepet.com

Parts List
#4029

150520 71205TRIXIE Pet Products, Inc. · P.O. Box 101196 · Ft. Worth, TX 76185 · www.trixiepet.com; Email: customerservice@trixiepet.com

Assembling Instruction
#4029

A4-Hoch_DOC_PAC_INST_01-4029-490×510×510mm_#SALL_#AQU_#V1.indd   2A4-Hoch_DOC_PAC_INST_01-4029-490×510×510mm_#SALL_#AQU_#V1.indd   2 25.07.24   12:1725.07.24   12:17



180624 | 73026TRIXIE Pet Products, Inc. · P.O. Box 101196 · Ft. Worth, TX 76185 · www.trixiepet.com

Item No. Color Dimensions Color Code

4029 Wooden Pet House or Litter Box Enclosure

white
19.25 × 20 × 20 in.
(49 × 51 × 51 cm)

0

gray 1

brown 2

Pos. No. Description Measurement Quantity Item No. -0 Item No. -1 Item No. -2

Pos. 1 Bottom plate
17 × 0.25 × 19.25 in.

(432 × 12 × 492 mm)
1 40290-10 40291-10 40292-10

Pos. 2 Side panel, left
19 × 19.25 × 0.25 in.

(485 × 494 × 12 mm)
1 40290-20 40291-20 40292-20

Pos. 3 Side panel, right
19 × 19.25 × 0.25 in.

(485 × 494 × 12 mm)
1 40290-21 40291-21 40292-21

Pos. 4 Front Door plate
17 × 16.75 × 0.25 in.
(437 × 427 × 12 mm)

1 40290-30 40291-30 40292-30

Pos. 5 Back Panel
17.25 × 17.25 × 0.11 in.
(451 × 441 × 3 mm)

1 40290-40 40291-40 40292-40

Pos. 6 Top Panel
20 × 0.75 × 33.25 in.
(510 × 24 × 485 mm)

1 40290-50 40291-50 40292-50

Pos. 7 End strip
17 × 1.25 × 0.25 in.
(432 × 32 × 12 mm)

1 40290-51 40291-51 40292-51

Pos. a Dovel, large
0.23 × 1 in.

(ø 6 × 30 mm)
12

4029-60

Pos. b Countersunk screw
0.118 × 0.472 in.
(M3 × 12 mm)

2

Pos. c Closing Latch, magnetic 1

Pos. d Knob 1

Pos. e Screw for Knob
0.157 × 0.708 in.
(M4 × 18 mm)

1

Pos. f Bolt for Cam Lock
0.236 × 1.377 in.
(M6 × 35 mm)

8

Pos. g Cam Lock
0.472 × 0.393 in.
(ø 12 × 10 mm)

8

Pos. h Hinge 2

Pos. i Dovel, small
0.236 × 0.787 in.

(ø 6 × 20 mm)
1

Pos. j Countersunk screw
0.118 × 0.393 in.
(M3 × 10 mm)

10

   

Parts List
#4029

Item No. Color Height Color Code

4029 Pet House

white
19.25 × 20 × 20 in.
(49 × 51 × 51 cm)

0

gray
19.25 × 20 × 20 in.
(49 × 51 × 51 cm)

1

brown
19.25 × 20 × 20 in.
(49 × 51 × 51 cm)

2

Pos. No. Description Measurement Quantity Item No. -0 Item No. -1 Item No. -2

Pos. 1 Bottom plate
17 × 0.25 × 19.25 in.

(432 × 12 × 492 mm)
1 40290-10 40291-10 40292-10

Pos. 2  Side panel, left
19 × 19.25 × 0.25 in.

(485 × 494 × 12 mm)
1 40290-20 40291-20 40292-20

Pos. 3 Side panel, right 
19 × 19.25 × 0.25 in.

(485 × 494 × 12 mm)
1 40290-21 40291-21 40292-21

Pos. 4 Front Door plate
17 × 16.75 × 0.25 in.
(437 × 427 × 12 mm)

1 40290-30 40291-30 40292-30

Pos. 5 Back Panel
17.25 × 17.25 × 0.11 in.
(451 × 441 × 3 mm)

1 40290-40 40291-40 40292-40

Pos. 6 Top Panel
20 × 0.75 × 33.25 in.
(510 × 24 × 485 mm)

1 40290-50 40291-50 40292-50

Pos. 7 End strip
17 × 1.25 × 0.25 in.
(432 × 32 × 12 mm)

1 40290-51 40291-51 40292-51

Pos. a Dovel, large
0.23 × 1 in.

(ø 6 × 30 mm)
12

4029-60 4029-60 4029-60

Pos. b Countersunk screw
0.118 × 0.472 in.
(M3 × 12 mm)

2

Pos. c Closing Latch, magnetic 1

Pos. d Knob 1

Pos. e Screw for Knob
0.157 × 0.708 in.
(M4 × 18 mm)

1

Pos. f Bolt for Cam Lock
0.236 × 1.377 in.
(M6 × 35 mm)

8

Pos. g Cam Lock 
0.472 × 0.393 in.
(ø 12 × 10 mm)

8

Pos. h Hinge 2

Pos. i Dovel, small
0.236 × 0.787 in.

(ø 6 × 20 mm)
1

Pos. j Countersunk screw
0.118 × 0.393 in.
(M3 × 10 mm)

10

Parts List
#4029

150520 71205

4

1
6

7

5

3

2

2 pcs

Pos. b

1 pc

Pos. c

1 pc

Pos. d

1 pc

Pos. e

8 pcs

Pos. f

8 pcs

Pos. g

1 pc

Pos. i

12 pcs

Pos. a Pos. h

2  pcs

Pos. j

10 pcs

TRIXIE Pet Products, Inc. · P.O. Box 101196 · Ft. Worth, TX 76185 · www.trixiepet.com; Email: customerservice@trixiepet.com

3

6

7

5

4

1

2

a b c d e f g h ji

Item No. Color Height Color Code

4029 Pet House

white
19.25 × 20 × 20 in.
(49 × 51 × 51 cm)

0

gray
19.25 × 20 × 20 in.
(49 × 51 × 51 cm)

1

brown
19.25 × 20 × 20 in.
(49 × 51 × 51 cm)

2

Pos. No. Description Measurement Quantity Item No. -0 Item No. -1 Item No. -2

Pos. 1 Bottom plate
17 × 0.25 × 19.25 in.

(432 × 12 × 492 mm)
1 40290-10 40291-10 40292-10

Pos. 2  Side panel, left
19 × 19.25 × 0.25 in.

(485 × 494 × 12 mm)
1 40290-20 40291-20 40292-20

Pos. 3 Side panel, right 
19 × 19.25 × 0.25 in.

(485 × 494 × 12 mm)
1 40290-21 40291-21 40292-21

Pos. 4 Front Door plate
17 × 16.75 × 0.25 in.
(437 × 427 × 12 mm)

1 40290-30 40291-30 40292-30

Pos. 5 Back Panel
17.25 × 17.25 × 0.11 in.
(451 × 441 × 3 mm)

1 40290-40 40291-40 40292-40

Pos. 6 Top Panel
20 × 0.75 × 33.25 in.
(510 × 24 × 485 mm)

1 40290-50 40291-50 40292-50

Pos. 7 End strip
17 × 1.25 × 0.25 in.
(432 × 32 × 12 mm)

1 40290-51 40291-51 40292-51

Pos. a Dovel, large
0.23 × 1 in.

(ø 6 × 30 mm)
12

4029-60 4029-60 4029-60

Pos. b Countersunk screw
0.118 × 0.472 in.
(M3 × 12 mm)

2

Pos. c Closing Latch, magnetic 1

Pos. d Knob 1

Pos. e Screw for Knob
0.157 × 0.708 in.
(M4 × 18 mm)

1

Pos. f Bolt for Cam Lock
0.236 × 1.377 in.
(M6 × 35 mm)

8

Pos. g Cam Lock 
0.472 × 0.393 in.
(ø 12 × 10 mm)

8

Pos. h Hinge 2

Pos. i Dovel, small
0.236 × 0.787 in.

(ø 6 × 20 mm)
1

Pos. j Countersunk screw
0.118 × 0.393 in.
(M3 × 10 mm)

10

Parts List
#4029

150520 71205

4

1
6

7

5

3

2

2 pcs

Pos. b

1 pc

Pos. c

1 pc

Pos. d

1 pc

Pos. e

8 pcs

Pos. f

8 pcs

Pos. g

1 pc

Pos. i

12 pcs

Pos. a Pos. h

2  pcs

Pos. j

10 pcs

TRIXIE Pet Products, Inc. · P.O. Box 101196 · Ft. Worth, TX 76185 · www.trixiepet.com; Email: customerservice@trixiepet.com

Item No. Color Height Color Code

4029 Pet House

white
19.25 × 20 × 20 in.
(49 × 51 × 51 cm)

0

gray
19.25 × 20 × 20 in.
(49 × 51 × 51 cm)

1

brown
19.25 × 20 × 20 in.
(49 × 51 × 51 cm)

2

Pos. No. Description Measurement Quantity Item No. -0 Item No. -1 Item No. -2

Pos. 1 Bottom plate
17 × 0.25 × 19.25 in.

(432 × 12 × 492 mm)
1 40290-10 40291-10 40292-10

Pos. 2  Side panel, left
19 × 19.25 × 0.25 in.

(485 × 494 × 12 mm)
1 40290-20 40291-20 40292-20

Pos. 3 Side panel, right 
19 × 19.25 × 0.25 in.

(485 × 494 × 12 mm)
1 40290-21 40291-21 40292-21

Pos. 4 Front Door plate
17 × 16.75 × 0.25 in.
(437 × 427 × 12 mm)

1 40290-30 40291-30 40292-30

Pos. 5 Back Panel
17.25 × 17.25 × 0.11 in.
(451 × 441 × 3 mm)

1 40290-40 40291-40 40292-40

Pos. 6 Top Panel
20 × 0.75 × 33.25 in.
(510 × 24 × 485 mm)

1 40290-50 40291-50 40292-50

Pos. 7 End strip
17 × 1.25 × 0.25 in.
(432 × 32 × 12 mm)

1 40290-51 40291-51 40292-51

Pos. a Dovel, large
0.23 × 1 in.

(ø 6 × 30 mm)
12

4029-60 4029-60 4029-60

Pos. b Countersunk screw
0.118 × 0.472 in.
(M3 × 12 mm)

2

Pos. c Closing Latch, magnetic 1

Pos. d Knob 1

Pos. e Screw for Knob
0.157 × 0.708 in.
(M4 × 18 mm)

1

Pos. f Bolt for Cam Lock
0.236 × 1.377 in.
(M6 × 35 mm)

8

Pos. g Cam Lock 
0.472 × 0.393 in.
(ø 12 × 10 mm)

8

Pos. h Hinge 2

Pos. i Dovel, small
0.236 × 0.787 in.

(ø 6 × 20 mm)
1

Pos. j Countersunk screw
0.118 × 0.393 in.
(M3 × 10 mm)

10

Parts List
#4029

150520 71205

4

1
6

7

5

3

2

2 pcs

Pos. b

1 pc

Pos. c

1 pc

Pos. d

1 pc

Pos. e

8 pcs

Pos. f

8 pcs

Pos. g

1 pc

Pos. i

12 pcs

Pos. a Pos. h

2  pcs

Pos. j

10 pcs

TRIXIE Pet Products, Inc. · P.O. Box 101196 · Ft. Worth, TX 76185 · www.trixiepet.com; Email: customerservice@trixiepet.com
A4-Hoch_DOC_PAC_INST_01-4029-490×510×510mm_#SALL_#AQU_#V1.indd   3A4-Hoch_DOC_PAC_INST_01-4029-490×510×510mm_#SALL_#AQU_#V1.indd   3 25.07.24   12:1725.07.24   12:17



180624 | 73026TRIXIE Pet Products, Inc. · P.O. Box 101196 · Ft. Worth, TX 76185 · www.trixiepet.com

32

2

2

f

f

f

f

f

a

a3 ×

a3 ×

a3 ×

a

b

b

c

Assembling Instruction
#4029

a f b c
8 pcs 4 pcs 2 pcs 1 pc

a b cf

1.

A4-Hoch_DOC_PAC_INST_01-4029-490×510×510mm_#SALL_#AQU_#V1.indd   4A4-Hoch_DOC_PAC_INST_01-4029-490×510×510mm_#SALL_#AQU_#V1.indd   4 25.07.24   12:1725.07.24   12:17



180624 | 73026TRIXIE Pet Products, Inc. · P.O. Box 101196 · Ft. Worth, TX 76185 · www.trixiepet.com

2.

gi
1 pc 2 pcs

Assembling Instruction
#4029

Front 1 1

1

11

2

2

7

7

77

7

i

i

g

g

g

a
a

a

f

g g

i g

A4-Hoch_DOC_PAC_INST_01-4029-490×510×510mm_#SALL_#AQU_#V1.indd   5A4-Hoch_DOC_PAC_INST_01-4029-490×510×510mm_#SALL_#AQU_#V1.indd   5 25.07.24   12:1725.07.24   12:17



180624 | 73026TRIXIE Pet Products, Inc. · P.O. Box 101196 · Ft. Worth, TX 76185 · www.trixiepet.com

Assembling Instruction
#4029

3

12

g

g

7

1

3 a
a

a

g

f

7

UP

5

g g

g
2 pcs

g

3.

A4-Hoch_DOC_PAC_INST_01-4029-490×510×510mm_#SALL_#AQU_#V1.indd   6A4-Hoch_DOC_PAC_INST_01-4029-490×510×510mm_#SALL_#AQU_#V1.indd   6 25.07.24   12:1725.07.24   12:17



180624 | 73026TRIXIE Pet Products, Inc. · P.O. Box 101196 · Ft. Worth, TX 76185 · www.trixiepet.com

Assembling Instruction
#4029

Front

6
f

f
f

f

f
4

d

e

3

6

2

6

g

g

g

g

aa

a

g

f

a

ga f d e
4 pcs 4 pcs 1 pc 1 pc 4 pcs

ga d ef

4.

A4-Hoch_DOC_PAC_INST_01-4029-490×510×510mm_#SALL_#AQU_#V1.indd   7A4-Hoch_DOC_PAC_INST_01-4029-490×510×510mm_#SALL_#AQU_#V1.indd   7 25.07.24   12:1725.07.24   12:17



180624 | 73026TRIXIE Pet Products, Inc. · P.O. Box 101196 · Ft. Worth, TX 76185 · www.trixiepet.com

Assembling Instruction
#4029

j
j

j h

j
j

j
h j

j

j

j

j
h

h

4

4

j
j

h

j
j

h

h j
2 pcs 10 pcs

h j

5.

A4-Hoch_DOC_PAC_INST_01-4029-490×510×510mm_#SALL_#AQU_#V1.indd   8A4-Hoch_DOC_PAC_INST_01-4029-490×510×510mm_#SALL_#AQU_#V1.indd   8 25.07.24   12:1725.07.24   12:17


